Student Name____________________Homeroom Teacher________________ Due: ___11/10/17__
4th Grade CML PRACTICE #5
Please solve the following problems showing all your work on notebook paper.  These practice problems are to be done at home.  Parents are encouraged to talk to their students about the how and why.  Attach the notebook paper to this and fill in your solution on each blank below.    IF YOU DON’T SHOW YOUR WORK. YOU CANNOT RECEIVE CREDIT.

1.  Three pieces of gum and 8 pieces of candy cost a total of 74 cents.  Five pieces of gum and 9 pieces of candy cost a total of 93 cents.  What is the total cost of 4 pieces of gum and 2 pieces of candy? 
____________________

2.  It takes 3 people 3 hours to assemble 3 sheds.  Five people could assemble _______sheds in 6 hours.

3.  Tim has less than 50 baseball cards.  He can divide the number he has into 6 equal groups or into 4 equal groups.  If he tries to divide the cards into 5 equal groups, then he has 1 card left over.  How many cards does Tim have? 










___________________

4.  In the year 2010 Vinnie will be as old as the last 2 digits of the year he was born.  In what year was Vinnie born?  (He is alive in 1991.)







___________________

Student Name____________________ Homeroom Teacher ________________ Due: __11/10/17__
4th Grade CML PRACTICE #5
Please solve the following problems showing all your work on notebook paper.  These practice problems are to be done at home.  Parents are encouraged to talk to their students about the how and why.  Attach the notebook paper to this and fill in your solution on each blank below.    IF YOU DON’T SHOW YOUR WORK. YOU CANNOT RECEIVE CREDIT.

1.  Three pieces of gum and 8 pieces of candy cost a total of 74 cents.  Five pieces of gum and 9 pieces of candy cost a total of 93 cents.  What is the total cost of 4 pieces of gum and 2 pieces of candy? 
____________________

2.  It takes 3 people 3 hours to assemble 3 sheds.  Five people could assemble _______sheds in 6 hours.

3.  Tim has less than 50 baseball cards.  He can divide the number he has into 6 equal groups or into 4 equal groups.  If he tries to divide the cards into 5 equal groups, then he has 1 card left over.  How many cards does Tim have? 










___________________

4.  In the year 2010 Vinnie will be as old as the last 2 digits of the year he was born.  In what year was Vinnie born?  (He is alive in 1991.)







___________________
